10 wluntees took tests for imtelligence. Average

stoxe IS T5.  lorth Sign:#camce level Q5% beteoeen

sample and population means, assuming +hat

vouaiovite of populoton is  not knowon

-

Stoges: 65,78,88,55 4%,45 ¢6,57 19, 8

~
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’,a;? > a= c(65 78, 8¢, 55 48 A5, 66,57, 79,81)
B E £.test (a,mu=75)
t= -0-18203  df=9. p-value = 0-4537
altenative hypothesis: tiue mean riot equal fo 75
- q5%  confidence intenval :
60. Q18T 8R.ITB12
Sample esttmates :
meoan of x
T1- //
| p-value w:‘%'gniﬁcance level of 4S°%b < 0-05
L‘Mo Hence Mo, Aejected .
‘\W/,/
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_Cholesteol leve] befose and after medicatton
1 Before : 23T 289 257  22¢ 303 Q75 Q6] 304 R4y Q33
After: 194 Qo 230 186 265 QR 24’ & Ao 212

Test daim pg >0 a+ &= 0.05

> befoxe

c (Al values of 'befose’)

> aftey =

c (AU values of ‘after’)

> _ttest (befote, after, paited = TRUE, altetnative =

“geeatet", mu=0)

Paired T-test

dota: befote and after

t- 6.5594 df-9, ,p_va[qe = 5-3A0Qe-05
alternative h\c;;,pothesis: twue  diffetence in means s

gleater than 0

95 pacent confidence [evel :

- 23-057l Inf
- sample egfimates :
mean of diffetences: 3R
lnterpretation :
o Reject  null hypothesis  because p-wmlue
less than significance value |
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